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5,000 * 2008 * 22 * 53] 10,000
307 2120l 558, 100 508,600 49,500
2 QIANFABE 145, 100 140,600 4,500
OMBHSXEX X2
300,000 * 6% * 122 21,600
Oz=2 osts X 4,000,000 * 1652 64,000
OMBHSHAS 29 55,000,000 55,000
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2A: 232
A HSMY B4
ool MBS S4 (el @)
_ _ _ Muo
SA-E . S(E) - MEAY - BES 0 & 24 i HIRE
OMEMSE s AMR=2 U= 4,500,000 4,500
04 CIZHALE X 413,000 368,000 45,000
OFINk daM=stz &8 90,000,000 90,000
24 522 S0
5,000,000 » 10&5= 50,000
OR4t 522 S Hal(=R)
4,000,000 4,000
ONOIEEcAES =3lUzg 500,000 » 65 3,000
OSXAI HsEHSHE &5
3,000,000 * 7&5= 21,000
O&=3(&)Hts MsUs | 245,000,000 245,000
I o2 MEM=Us s8N 4,000 0 4,000
S 1,000
= 3,000
307 QI2toIH 4,000 0 4,000
< 1,000
= 3,000
02 2ItAa=2X 4,000 0 4,000
OFIIE 024 MBHSHE EEE
4,000,000 4,000
= 1,000
s 3,000
d2HE S4 1,009,916 1,269,998 A 260,082
S 70,000
= 939,916
gt d2Ms |4 334,000 570,500 A 236,500
202 Od4Hl 4,000 4,000 0
01 =LHAHI 4,000 4,000 0
OIS HEHE &
50,000 » 128 = 4 2,400
O&d=axM=lz &d 50,000 » 49 « 8 1,600
307 QI2told 330,000 556,000 A 226,000
02 A2 X 91,000 201,000 110,000
Ox=z 23 75,000,000 75,000
O&=2E ot XA 4,000,000 * 4&5= 16,000
04 GCIZHHALE X 239,000 355,000 A 116,000
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SH: 252
Hal: HSMNY S4
ool MRS S4 (e19: @8
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl &F o4 il b o HRs2
SEP R ETEESE 90,000,000 90,000
O - & M0 20,000,000 * 6 o 120,000
O2 +¥H3l 4,000,000 4,000
O2 BRATHS 4,000,000 4,000
O2 =¥l 4,000,000 4,000
O%-% 21 =703 12,000,000 12,000
OO HMSHE =& 5,000,000 5,000
NReSIT 29 X 675,916 465,862 210,054
= 70,000
2 605,916
201 Ywr2ay] 350 700 A350
01 At el 350 700 350
oYY 350
—AOI2E 24 849 70,000 * 53] 350
206 Mzl 23,000 23,000 0
01 =6l 23,000 23,000 0
OAOIZ2E 22 (Bt Et0I0f S)
23,000,000 23,000
301 YA 622,566 394,462 228,104
= 70,000
2 552,566
IEEER 622,566 394,462 228,104
ONB2SZIIL 224 XY 622,566
—=3 203,441
= 2,779,400 * 1% » 128 33,353
cH 1,417,400 * 102 * 122 170,088
= 70,000
2 100,088
—¥asg
203,440,800 * 1/12 * 50/100 * 23] 16,954
—H24YIIAS (5204 012
50,000 * 1% * 128 600
—HELG(NER) 480
NESS 40,000 * 1% * 128 480
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SN 252D
M MM F4
o9 HEXS S4 (S5l &2)
_ B} _ SIEN
SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 Sl ko HRs2
—YEEH|
203,440,800 * 1/12 = 60/100 * 23l 20,345
> P
203,440,800 * 1/12 = 16.7/100 » 12& 33,975
— 1ot At
203,440,800 » 1/12 = 1/30 = 15 8,477
—Epsy 24,000
INEE=DN; 200,000 = 1& 123 2,400
d4 % 180,000 * 102 * 122 21,600
— =2t E+ 300,000 = 1& » 123 3,600
—23 2 HaEAY 173,694
Al H 52,470,000 52,470
=2=| 10,202,500 10,203
- 2tAly| 8,745,000 8,745
- dXIEHI(502 JIE) 28,387,500 28,388
- el &AM (502 JI&E) 33,887,500 33,888
- 2HOE B Y HARKER
40,000,000 40,000
—HsENT 20,000,000 20,000
—H=st("=E, Mes 3) 12,000,000 12,000
—ELa3 30,000,000 30,000
— X233 4,000,000 4,000
—=azel 5,000,000 5,000
—0E A - ol EE= 8,500,000 8,500
—d=SHIEXS 2,800,000 = 10& = 23l 56,000
—d+=SEHI(UHEAIOI2HY) 1,500,000 1,500
405 TarE Sy 30,000 47,700 AT7,700
01 KA ESEH=HI 30,000 47,700 A17,700
OA0IZ2E 29 30,000
— AN 2U(ERE) 3,000,000 * 3CH 9,000
—NEH FU(EHR) 7,000,000 = 3CH 21,000
MSIIeHAIE &5 (XAl 1,200,000 2,076,000 876,000
S3MSAIE FHI 700,000 100,000 600,000
401 AU 204 700,000 100,000 600,000
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A 23220
M HReel =4
MEIIBEAIE &= (KHA) S &)
SN (B) - MBEAY - B2 Aol Soe HRZ2
01 Al&bI 700,000 100,000 600,000
SZ2HFAE U 100,000,000 100,000
OS2 MESAd AX(1HA)
50,000,000 50,000
O23HESAIEEE X SHILIAZ
) 300,000,000 300,000
O&ddH HOIEEHXS AH(BIH 2)
250,000, 000 250,000
HOlAN MATIE HEZ HH| 20,000 0 20,000
401 AIEHIZL 204 20,000 0 20,000
01 Al&H| 20,000 0 20,000
OHOIA AATIE N EZ HH| 20,000,000 20,000
JPE MDA AIEINA 480,000 0 480,000
401 AIZHIZL204b] 480,000 0 480,000
01 Al&H| 480,000 0 480,000
OJtEHINE AIEHA 480,000,000 480,000
oA B L 22| 416,926 146,889 270,037
= 50,000
= 99,350
o 267,576
HNERe & oM B2 416,926 146,889 270,037
= 50,000
= 99,350
iy 267,576
HEANZE(BSAH) HH| 100,000 29,689 70,311
= 50,000
== 25,000
iy 25,000
401 AIEHIZ 204 100,000 15,000 85,000
= 50,000
== 25,000
iy 25,000
01 Al&H] 100,000 15,000 85,000
OBSANYES U 2012 HECM
100,000,000 100,000
= 50,000




2AM: 2otz
M 2594 BE U 2P
e M523 ¥ 23N B (ctel &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
= 25,000
i 25,000
SXNE 23 E+ 2 Fl 148,700 104,000 44,700
& 74,350
= 74,350
207 SO 62,000 0 62,000
& 31,000
i 31,000
01 A1E4d| 62,000 0 62,000
OZXE SMEaHEGEI=E &Y
62,000,000 62,000
= 31,000
i 31,000
401 A& HIZ 20| 86,700 104,000 217,300
& 43,350
= 43,350
01 A&l 86,700 104,000 217,300
OOIdEDNI SX2eM &= 70,000,000 70,000
& 35,000
o 35,000
OO0IEEDJF AL £X 8,350,000 8,350
= 4,175
o 4,175
OEANESE UTHAIE &X 8,350,000 8,350
& 4,175
i 4,175
SFERH B L FH| 129,226 0 129,226
101 ol | 16,526 16,526
10 JIZtHZ2Z2NSESs 16,526 16,526
OSERH M=&H
35,310 » 99 * 130HA 43 16,526
401 Al&HIZ =204 112,700 112,700
01 Al&HI 112,700 112,700
OJtEgw Fhl 92,700
— s34 X 53,000,000 53,000
—2% 2 498Y AHES 23,000,000 23,000
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SN 2B
HH: 2524 BE o gl
o9 WSS U 251 25 k)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
— 2T % CCTV &R 16,700,000 16,700
OFERE FUI(9HL) 20,000,000 20,000
25 24 o Hy| 39,000 0 39,000
401 AlSHIL 2O 39,000 0 39,000
01 Al 39,000 0 39,000
o2& Fl 3,000,000 * 8IH 2 24,000
Osel ZA Zl 15,000,000 15,000
HZS YA (2B D) 48,300 47,736 564
ol 2ol (2122 ) 3,000 4,200 A1,200
ol 2| 3,000 4,200 A1,200
203 AREXY| 3,000 4,200 A1,200
04 FNSILRFAY 3,000 4,200 A1,200
ORNSYYL T (2322 D)
250,000 * 122 3,000
IR FH (252D 45,300 43,536 1,764
p[CET 45,300 43,536 1,764
201 eyl 25,000 21,360 3,640
RS 25,000 21,360 3,640
OHEER=1 20,200
—=AEX 20,000 * 3084 * 73] 4,200
NS RE 250,000 * 123l 3,000
—SNTIY @ BIY=S 400,000 * 43l 1,600
—=AJ EH @ JHEIX 500,000 * 43 2,000
~ZRlH EY 2 JtE2X
250,000 * 7CH * 23| 3,500
—ggtEaly E4 2 IEX
2,500,000 * 2C 5,000
~BAEH 2 JIERIX
150,000 * 1CH * 43 600
—YeL)| AS 50,0002 * 1CH * 63l 300
oz 4,800,000 4,800
202 o1t 19,440 22,176 A2,736
01 =Lioi] 19,440 22,176 A2,736
OJ2Ye +80IH|
120,000 * 1584 * 128 * 90/100 19,440
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